v EI AUTOMATION

made by Special Springs

Over Over
Pressure Stroke
Active Active

Safety Safety

Uncontrolled

Speed
Active
Safety
Range chart
 Model | Body Stroke Initial —
/] Cu force ‘ I;ifepl.u -
! concept
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm i nch i omm i nch i daN i b OPAS | OSAS 'SKUDO: USAS '
KM 3 25 098 10-80 039-315 310 697 - ' : - v :
KM 5 32 126 10-80 039-315 510 1147 : - G - v’
KM 10 38 150 10-80 039-315 980 2203 v’ v’ - 14
KM 10 C 38 150 10-80 039-315 980 2203 v’ v’ - v
KM 18 50 197 15-80 059-315 1925 4307 v’ v’ - v’
KM 18 C 50 197 15-80 059-315 1925 4307 v’ v’ - v’
KM 30 63 248 15-80 059-315 3180 7149 v’ v’ - v’
KM30C 63 248 15-80 059-315 3180 7149 \'4 v’ - '
KM 47 75 295 15-80 059-315 4925 11071 v’ v - v’
KM 47 C 75 295 15-80 059-315 4925 11071 v v’ - v’
KM 75 95 374 15-80 059-315 7700 17310 v’ ' - '
KM75C 95 374 15-80 059-315 7700 17310 v v’ - v’
KM 120 120 472 15-80 059-315 12720 28595 v’ v’ - v’
,,,,,,,,,,, kM120C¢ i 120 472 i 15-80  059-315 i 12120 28595 i v i v i i Y
Collegabile con tubi, fornito scarico e senza valvola unidirezionale, L+20 mm
K IVI 1 8 - 5 0 - c l_ Linkable with hoses, supplied without pressure and oneway valve, L+20 mm
Anschlussfahig mit Leitungen, geliefert ohne Druck und RiickschlagVentil, L+20 mm
Connectable avec tubes, fourni sans pression ni valve unidirectionelle, L+20 mm
HOW - E N Connectable con tubos, suministrado sin presion y sin valvula unidireccional, L+20 mm

Codice cilindro autonomo
Self-contained cylinder code
Kode des eingesténdiges Zylinder
Code du cylindre autonome
Codigo del cilindro autonomo
Codigo do cilindro auténomo

136 -014

Acomplaveis com tubos, fornecidos sem pressao e sem valvula unidireccional, L+20 mm

Collegabile EASY MANIFOLD, fornito scarico senza valvola + NIPPLO di collegamento
Linkable EASY MANIFOLD, supplied without pressure and valve + NIPPLE connecting
Anschlussfihig EASY MANIFOLD, geliefert ohne Druck und ohne Ventil + NIPPEL
Verbindungs

Connectable EASY MANIFOLD, fourni sans pression ni valve + NIPPLE de connexion
Connectable EASY MANIFOLD, suministrado sin presion y sin valvula + NIPLE de connexion
Acomplaveis EASY MANIFOLD, fornecidos sem presséo e sem vélvula + LIGACAQ
INTERIOR de conexéo

Vep Automation



v EI AUTOMATION

made by Special Springs

Info
MAX7 (2 .~ *100% Cu - Polytropic end forces
-1 _ Ra< 0,05
g% HV ~ 1000
| A
3 ‘ N R
[
|
|
S |
] |
—| g 1
i |
|
|
|
|
e
025403
0,98 +,01
o™  F 4T AP Pmax Pmn S  SPM MaxSpeed Maintenance kit
N 28 2L gsgeec 20D 20bar  15eom 4080 oo Disposable
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 7o @ @ (FUERTEL 2000psi | 290psi | 02390 | (azoey | ™S | WP
CODE CuLLminFOF1V0@ KM
. Initialforce | Endforce * | C E
e imm o mm | nch :mm | inch daN i b daN i b i em i in’ i ~Kg i b i  Cat
KM 3 - 10 10 039 75 295 65 25 310 697 | 413 1063 - - | 018 040 -
KM3-15 15 059 85 33570 27| s - - o019 02 -
KM 3 - 25 25 098105 4713 80 315 200bar . 5gg 3y - - 1022 048 @ -
KM3-38 38 1500130 52 92 3621 200pST ies3 me8l - - (025 0% -
KM 3 - 50 50 197 185 600 105 458 . 677 a2 - - 028 08 -
KM 3 - 63 B3 248185 728 122 480 pgop pger. 672 T - - 1033 0B -
,,,,,,,,,,,,,,,,,,, kM3-80 080 315220 866140 55 1692 1556 - - 1038 08 - |
[ZHow 10 ORDER
£ |
| IV = (10 pes) KM3-50
o2s"8° 3

Drop-In Through plate Bottom mount

Vep Automation 014- 137




v EI AUTOMATION

made by Special Springs

| ——-—-_ DEDR
-—— PED
IlfeQ!’gig 97/23/KC
“Info
M5X7 (2x) .~ *100% Cu - Polytropic end forces
018
7 71 Ra< 0,05
: HV ~ 1000
|
S ‘ NQQQ
|
i
i
a s |
g‘ +i \
E1N= |
S i
|
i
i
i
032,05 | MO
0126+ 01
""""""""""""""""""""""""""""""""""""""" Pmax = Pmin @ S = SPM MaxSpeed Maintenance kit
200bar | 20bar | 254cm? | ~40-80 | | .
LT @ (20T s 20ps | 0394iw | aorgy | B™S | Disposable
L | Lmin ! Fo § F1 Vo ! @ ?
. Initial force | Endforce ™ | Ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jnch: mm | jnch: daN i b i daN i /b i em* | in® i ~Kg i ~b i Ca
75 295 65 256 510 147 | 119 1751 - - 1030 066 -
85 3% 70 276 853 1918 - - 03 0Bl -
105 473 80 375 200bar o951 2138 - - 1036 079 -
130 5120 @ 3620 2000 qo44 27 - - fog 093 -
1856100105 430 1075 217 - - o046 101 -
% 190 7,483 127 5,00 §+20 °C +68 oFi 1017 22863 - - % 0,54 7,79 % -

(10 pes) KM5-50

Drop-In Through plate Bottommount  06476/C - 06755/C

138 -014 Vep Automation




v EI AUTOMATION

made by Special Springs

M6 X 7 (2x)

“Info
.~ *100% Cu - Polytropic end forces

02 Ra< 0,05
g% HV ~ 1000
|
i
i
8z i
S e |
- |
i
i
i
038+03 | M6
0150+,01
N T 3 5 """"" 5: ””” AP Pmax  Pmin 0 S | SPM MaxSpeed Maintenance kit
i P& 0 .. 200bar | 20bar | 49lcm* | ~40-80 | ‘
N2 o & o =03%C Cowm g s | oy M S 0

F1

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, b _iom | i’ i-Kgi b | Gt
KM 10- 10 L 10 039075 295 65 256 980 2203 {1592 3579 ¢ - - 040 088 -
KM 10 - 15 P15 059 8 3351 70 276 L1780 4002 ¢ - - 104 0% >
KM 10 - 25 25 098 105 413 80 315 200bar o047 gepp - - 049 708 -
KM 10 - 38 38 150 135 531 97 382 200PST ioum 48131 - - 058 128 .
KM 10 - 50 1 50 1971160 630 110 433 £ 5% 12259 5078 ¢ - - 066 746 -
KM 10 - 63 . 63 248205 807 182 559 ogop ,pgopi 2019 439 ¢ - - 1080 1% >
... Kwm10-80 180 375240 945:160 630 12184 497 - - D087 1920 - e
= G1/8"
_ FKM10| co: 9FMLOT00A e IR
Kit speciale per trasformare cilindri autonomi Sow C) S g
Special kit to convert self-contained cylinders =1
Spezin-Set zum Umbau eigensténQiger Zylinder 033 <o
Kit spécial pour transformer les cylindres autonomes 7130 Ad
Kit especial para transformar cilindros autonomos 038403
Kit especial para transformar cilindros auténomos 2 150+ 01

min 75% Lmin

foar™ 8

Drop-In

Through plate Bottommount  06297/C - 06769/C

§How T0 ORDER

(10 pes) KM10-50

Vep Automation

014- 139




KM10C VEP...omaron

made by Special Springs

linkable G1/8”

| ——-—-_ DEDN
= EID
IlfeQ!’gig 97/23/KC

G1/8" ~le  Info
M6 x 5 5 .~ *100% Cu - Polytropic end forces
229% Ra < 0,05 1
: HV ~ 1000
[
3 i N 0 67
[ R
|
|
|
|
S |
e |
—| g i
- |
033
07130 o
[ [ @
To ‘ <2
E%S 03803
0150+,01
"""""""""""""""""""""" : gf""?"'""A"P"""E""P'ﬁié{"i""P"ﬁi'i}i""E'"WS'"'"WE"”"SFM"""EM'éi'Shéé'd'E""'Mé'i'ﬁiéiié'h'éé'i&i't'""‘
s on | 200bar | 20bar | 491cm*> | ~40-80 i
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, w (EOSBRIC| ooops | 200ps | o7stie | gapgy | YOS | 3EMKMIO
Cu ¢ L ¢ Lmin ! Fo i F1 Vo ! @ ?
. Initialforce | Endforce ™ | Ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | inch : mm : jnch i mm | nch: daN i /b : daN | b _:cm i in’ i -~Kgi ~b . Cat
KM10-10-C 10 039 95 37 8 335 980 203 1592 3579 180 110 | 056 123 -
KM10-15-C 15 0591105 4131 90 354 1780 4002 230 1401 059 130 -
KM10-25-C 25 098 125 492100 394 200bar 047 4602 330 201 0 065 143 -
KM10-38-C 38 150155 6701 17 461 20D Dot 4813 480 293 0 074 163 0 -
KM10-50-C 50 197 180 709 130 52 . 2259 0% 600 366 082 18 -
KM10-63-C 63 248225 886 162 638,00 sgor 2019 4939 860 525 096 212 -
,,,,,,,,,,,,,,,,,, KM10-80-C 0 80 375:260 1024180 /709: 2134 4797 1030 6261 103 227 i - |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
[Zvow T0 ORDER
E :
| g (10 pes) KM10-50-C
| [ 06180- 06150 |
| Drop-In Throughpiate /) Bottommount 06029 - 06159 06297/C - 06769/C

140 -014 Vep Automation




v EI AUTOMATION

made by Special Springs

Easy manifold (@) Info
Piate connecting hole 010 - *100% Cu - Polytropic end forces
9,39 - e
164
M6 X 8 (4x) @ pece
035 Ra<005u @26
7138 a<buH For Easy manifold replacement units quote
; HV ~ 1000 product code marked on your cylinders.
8 ‘ |
|
i
|
8= !
e |
e
g i
|
i
i
i
IRy
050+03
19701
RPN T 3 |2’ ______ AP Pmax  Pmin . S | SPM MaxSpeed Maintenance kit
i | = § oo 200bar | 20bar | 962cm? | ~40-80 i
________________ No | o & o =0T wpn  wp g | aapp | GWS | MG
CODE [ ECuELELminFOHEVOE@E . KM
. Initialforce | Endforce * | C E
____________________________________________________ mm ; inch : mm i inch i mm :inch : daN : /b : daN : /b i cm® : in’ i-~Kgi ~b i Cat .
KM 18 - 15 15 059 95 37 80 315 1925 4377 361 706 - - | 084 185 -
KM 18 - 25 25 098 115 453 90 354 ‘361 82300 - - 082 203 -
KM 18 - 38 38 150 150 597 112 447 g(g)gob;sr/ a762 847 - - 1M 245 -
KM 18 - 50 B0 197175 689125 49 4034 9069 - - 12 269 -
KM 18 - 63 63 245 205 807 W2 559 w54 4367 9817 - - 138 304 -
. kwm1-80 180 315:245 9651685 650 +20°C 66| 42711 9602 0 - - D157 346 S
G1/8"

G1/8" M6x12(4x)
_ﬂm code: 39FMLO1800A rgi /g_ .
©|N

Kit speciale per trasformare cilindri autonomi 8|

)
\\k/
8
31 5
20
02
a 1,0.
/T
o©
=X
%

| .
Special kit to convert self-contained cylinders ‘ %
Spezial-Set zum Umbau eigensténdiger Zylinder - 013 @ { 3@
Kit spécial pour transformer les cylindres autonomes ‘C_i"‘? 7169 A
Kit especial para transformar cilindros auténomos 0 50' +03 >
Kit especial para transformar cilindros auténomos o1 97;,277 <R
......................................................................................................................................................................
& now To oRDER
g (10 pos) KM18-50
£ 1
E + / {(10 pcs) KM18-50-EN
053" 8° i( pes)
' Drop-In Through plate Bottommount  04756/C - 06756/C |

Vep Automation 014- 141




KM18C VEP...omaron

made by Special Springs

linkable G1/8”

| ——-—-_ DEDN
= EID
IlfeQ!’gig 97/23/KC

M8 X 12 (4X) ~ RPN | .~ *100% Cu - Polytropic end forces
gﬁ% Ra< 0,05
i HV ~ 1000
3 i | 2102
R I
|
i
i
i
g5 i
Sz :
- i
i
0143
0169 ol
=
9% 050403 ©'™

- 91.97+.00

Pmax @ Pmin | S - SPM Max Speed. Maintenance kit
200bar | 20bar | 962cm®> | ~40-80 |
M L @ e (EUBWT oapy  ops | gagtie | ey o YP™S 0 aoBMME
L | Lmin | Fo i F1 - Vo ?
. Initialforce | Endforce ™ | @ Ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jnch i mm {jnch i daN i /b : daN i /b :em® | in® i ~Kg i ~b | Cat
KM18-15-C 15 059 15 453 100 3% 1925 4377 | 3161 7106 | 490 299 | 114 251 -
KM18-25-C 25 0981135 5311 M0 433 (3661 6230 670 409 12 269 -
KM18-38-C 38 150 170 669 132 520 ggggb;sr/ 3762 847 1020 622 1M 311 -
KM18-50-C 50 197195 768 145 571 4034 9069 1250 763 i 152 335 -
KM18-63-C 63 248 225 866 162 638 5% 4367 9817 1540 940 168 3700 . -
KM18-80-C 80 375 265 1043 185 728 +20°C +68°F: 4271 9602 1930 1178 187 412 | -

[ZHow T0 ORDER
E
% 3(10 pcs) KM18-50-C

04754 - 06152 )
Throughplate / Bottommount 06189 - 06161 04756/C - 06756/C

142 -014 Vep Automation

min 75% Lmin




v EI AUTOMATION

made by Special Springs

Easy manifold (7)
Plate connecting hole @ 10

2,39 -

“Info
.~ *100% Cu - Polytropic end forces

X page 164
045 M8 X 8 (4x)— @ __________________________________________________________________________
017 Ra<0,05u 0134 | For Easy manifold replacement units quote
: HV ~ 1000 3 product code marked on your cylinders.
= | e e e
(&) . SelpN
|
i
|
gz |
] !
= !
_ !
!
|
i
i
e
063+03
0248+,01
@E """ 3 5 """ AP Pmax = Pmin | S  SPM MaxSpeed Maintenance kit
e S on | 200bar | 20bar 1590cm> | ~40-80 ! :
________________ No | o & o =0T g wp | ot | aapn | MGms | s
. CODE i . Cu L | Lmin Fo Fr. | Vo @
' Initial force | End force ™ C E
M  nch | mm { nch | mm | nch: daN { /b | daN | b | om | in’ | ~Kg | ~b i Cat |
KM 30 - 15 15 059 100 394 8 33 3180 749 | 5114 1497 - - 133 293 | -
KM 30 - 25 %5 098 120 472 % 374 5805 132521 - - 141 34 -
KM 30 - 38 38 150 150 591 112 441 ggggb;srj 6354 4840 - - 1189 373 -
KM 30 - 50 .50 197180 709130 512 | 6500 M6130 - - 192 4230 -
KM 30 - 63 63 248 210 827 4T 579 .5y 6716 15098 - - 214 472 -
. Km30-80 {8 375:250 984:170 669 :+20°C +68°F| 6883 15474: - - 1244 538 - |
G1/8"
_____FKM30 S [ @
Kit speciale per trasformare cilindri autonomi Sl | gff\)i I BS - IR
Special kit to convert self-contained cylinders : ‘ >/ IS =
Spezial-Set zum Umbau eigenstéandiger Zylinder = 056
Kit spécial pour transformer les cylindres autonomes ‘C_>"§ 0920
Kit especial para transformar cilindros auténomos 0 63' +03 -
Kit especial para transformar cilindros auténomos Vi 243;,(57 w &
[ZHow T0 ORDER
g (10 pes) KM30-50
: Iy € :
ose' & (10 pes) KMS30-50-EN
: Drop-In Through plate Bottom mount  06775/C - 06840/C :
Vep Automation 014- 143




KM 30 c @QUTOMA TION

made by Special Springs

linkable G1/8”

| ——-—-_ DEDN
= EID
IlfeQ!’gig 97/23/KC

G1/8” 9l gy Info
M8 x 12 (4x) a1 .~ *100% Cu - Polytropic end forces
%74757 Ra< 0,05
i HV ~ 1000
3 | | & 0134
R I
|
|
|
|
85 |
S+ i
+ = ‘
- i
|
0156
0520 ol
 Eo
‘ .
ué"[“? 063:03 |
0248+.01
""""""""""""""""""""""" : gf"T”"A"P""T"P"ﬁié{"i""ﬁh{i}iwE'""""SW"T'"SP’M"""EM'éi’Shéé’d’f"Mé'i’ﬁiéiié’h’i:’é’ki’t'"”'
. on | 200bar | 20bar | 1590cm> | ~40-80 i
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, w 208! opopsi | 200ps | 2ds4i | aorgy | B™S | BMKMSD
Cu | L | Lmin ! Fo i F1 i Vo ? @ ?
. Initialforce | Endforce ™ | Ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jnch i mm | jnch . mm | jnch: daN i /b . daN i b . om* i in° i-~Kg i ~b . Ca
KM30-15-C 15059 120 4720105 413 3180 /49 5114 1497 99 604 A1 87 -
KM30-25-C 25 098 140 551 115 453 5895 13252 128 781 185 408 -
KM30-30-C 38 150 170 669 132 520 ggggbl';‘sr/ 6354 0% 14 1062 207 4% -
KM30-50-C 50 197200 787 150 591 | 6500 16131 221 1349 230 507 -
KM30-63-C 63 245 230 906 167 657  x5% | 6716 15098 267 1629 252 5% @ -
KM30-80-C 80 375 270 1063. 190 748 +20°C +68°F 6883 1547 328 2002 282 62 . -

TTh
[ZHow T0 ORDER
£ g (10 pes) KM30-50-C
066" 0° 05958 - 06086 §
Drop-In Throughplate_J Bottommount 477106163 06775/C - 06840/C ‘

144 -014 Vep Automation




VEPquraMArmN KM 47

made by Special Springs

Easy manifold () Info
Plate connecting hole @10 - *100% Cu - Polytropic end forces
9,39 - e
164
N o Qo
7220 Ra < 0,05 For Easy manifold replacement units quote
‘ HV ~ 1000 product code marked on your cylinders.
> | e o o oo
(&) . o N 1
|
i
i
2= |
S !
- |
i
i
i

S~ G1/8”

@75103
"""""""""""""""""""""""""""""""""""""" Pmax | Pmin . S = SPM MaxSpeed Maintenance kit
200bar | 20bar | 2463cm? | ~30-70 ! |
_________________________________________________________________________ 2900psi | 290psi | 3817 | (aaeg) | YBMS | doBMkME
L  Lmn F  F | Vo | 5 KM
. Initialforce | Endforce * | C E
____________________________________________________ mm : jnch : mm { inch i mm i inch: daN | /b i daN i b | cm | in® | ~Kg| ~b i Cat |
KM 47 - 15 15 059 100 394 85 335 4925 71071 | 8203 18441 - -8 4u -
KM 47 - 25 B 098120 472 9B 374 9524 ount | - - 208 459 0 -
KM 47 - 38 38 150 150 591 112 447 gggob;sr/ 0275 2309 - - 236 520 -
KM 47 - 50 50 1971180 709130 512 10499 23603 - - 285 s -
KM 47 - 63 B3 248 200 827 WT 579 45y 10850 24390 - - 292 64 -
.. Kwa7-80 080 375250 984:170 669 :+20°C +68°F: 11118 24994 - - 1324 714 - |
G1/8"

Kit speciale per trasformare cilindri autonomi I /f% I
Special kit to convert self-contained cylinders
Spezial-Set zum Umbau eigensténdiger Zylinder

T G M8 x 12 (4%)
__ _FKm47 TR ) o
. v ] 3 - : e

20
79

20
040

P
S
8
3l

105, "
A1

=2

3

Kit spécial pour transformer les cylindres autonomes 0264
Kit especial para transformar cilindros auténomos 0 75’ 03 -
Kit especial para transformar cilindros auténomos 92 95;57 PN
......................................................................................................................................................................
& now To oRDER
2 (10 pcs) KM47-50
, 1) € :
079" 03 Bottom mount §(10 pcs) KM47-50-EN
: 05574 -05919  04759/C - 06759/C =
Drop-In Through plate 05919/M

Vep Automation 014- 145




KM 47 c @QUTOMATION

made by Special Springs

linkable G1/8”

| ——-—-_ DEDN
= EID
I'feli'!,,‘;'ﬁ 97/23/KC

M8 X 12 (4) 1 .~ *100% Cu - Polytropic end forces
0 56
0220 Ra<0,05p
i HV ~ 1000
3 i ool 715
|
i
i
|
&5 i
3 + !
- £ |
E i
- i
i
0167
|
o267 s,
=0
wl ‘ =
e‘w 075408 |

0295 +,01

Pmax @ Pmin | S - SPM Max Speed. Maintenance kit
200bar | 20bar | 2463cm? | ~30-70
M L @ e (EUBWT oapg o g | @arg o YP™S MkMET
L | Lmin ! Fo i F1 Vo @ i
. Initialforce | Endforce ™ | Ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm_{ jnch : mm | inch daN i /b : daN i b om® i i’ ;~Kg i ~b i _ Cat |

KM 47-15-C 15 050120 472 105 413 4925 11071 | 8203 18441 1290 787 | 256 564 -

KM 47-25-C 25 098 140 551 15 453 9524 24111770 1080 276 608 i -

KM 47-38-C 38 140 170 669 132 520 5330";3’/ 0275 23099 2510 1552 304 670 -

KM 47-50-C 50 197 200 787 150 591 10499 23603} 3270 1995 333 734 i -

KM 47-63-C 63 248 230 906 167 657 5% 10850 24392 4020 2453 360 794 -
,,,,,,,,,,,,,,,,,, KM47-80-C | 80 3150270 1063 190 748 +20°C +68°F 11118 249945020 3063 392 6864 : - |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

[Zvow T0 ORDER
‘ £ %% (10 pes) KM47-50-C
| ot DSRTI-OSO10  047S7-06154  0ATSOIC- 067SIC i
Drop-in Through plate 05919/M 06190 - 06163 |

146 -014 Vep Automation




@CUTOMATION KM 75

made by Special Springs

Easy manifold () Info
Plate connecting hole @10 - *100% Cu - Polytropic end forces
039 - LRI
age 164
070 M8 X8 (4x) O
7227 Ra<0,05 ‘ For Easy manifold replacement units quote
i HV ~ 1000 § product code marked on your cylinders.
S ' ™[N e ——
|
i
|
813 i
5l e !
= |
g i
!
|
i
i
DRy
09503
0374+01
CoE 3 5 """ AP Pmax  Pmn .S | SPM MaxSpeed Maintenance kit
Gi P9 : on | 200bar | 20bar | 3848cm? | ~20-60 | |
________________ No o @ 0 =0BWC Depa  wpy ol | mown | MW dEWKNTS
CODE [ §Cu§L§Lmin§F0§F1§V0§@§
. Initialforce | Endforce ™ | ce
____________________________________________________ mm ; inch : mm ; inch i mm : inch : daN : /b : daN : b i cm® i in’ i-~Kgi ~b i Cat
KM 75 - 15 15059 115 453100 394 7700 17310 12040 267 - - | 353 778 -
KM 75 - 25 25 098135 531 10 433 3872 sme5 - - 384 84 -
KM 75 - 38 38 140 165 650 127 500 ggggb;sr/ 15048 33829 - - 440 970 -
KM 75 - 50 50 1971190 748 140 551 6107 362000 - - 46T 1030 -
KM 75 - 63 63 248 220 866 157 618 5% 16620 %63 - - | 515 1135 -
KM 75 - 80 . 80 375 260 1024i 180 709 | +20°C +68°F 17009 38238 - - | 576 120 -

G1/8"
Kit speciale per trasformare cilindri autonomi S | I =/f \73 I B S IR/
Special kit to convert self-contained cylinders ‘ Q\_J/ oo &5 =
Spezial-Set zum Umbau eigenstéandiger Zylinder o 087 R
Kit spécial pour transformer les cylindres autonomes =) “‘? 7343
Kit especial para transformar cilindros autonomos 0 95’+ 03 o
Kit especial para transformar cilindros autonomos 37401 SN
______________________________________________________________________________________________________________________________________________________________________
& now To oRDER
2 (10 pes) KM75-50
, 1) € :
Jo%’ 0’ 5(10 pes) KM75-50-EN
' Drop-In Through plate /' Bottom mount ~ 04762/C - 06770/C |

Vep Automation 014- 147




KM 75 c @QUTOMATION

made by Special Springs

linkable G1/8”

| ——-—-_ DEDN
= EID
I'feli'!,,‘;'ﬁ 97/23/KC

G1/8" k] Info
M8 X 12 (4) ~ T .~ *100% Cu - Polytropic end forces
070
g276 Ra< 0,05
i HV ~ 1000
3 e 0205
R I
|
|
|
|
ol |
g"-ﬁ i
Hl = |
—| g i
- i
|
0 87
01343 o5
- Eo
LO)| ‘ oo &=
S’F 0903 | @
"""""""""""""""""""""""" | gf"'""""A'P"""T""P'”nié{"]""P"ﬁii}i""}'""""S""’""f"""S’FMW'Méi’Shéé’dﬁ""'Mé'i’ﬁiéiié’h’i:’é’ki’t'""'
J on | 200bar | 20bar | 3848cm* | ~20-60 :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, o EOBWC ooops | 200ps | 5964 | @aoegy | YOM™S . BMKMZS
Cu?L?Lmin?FU?F1§\I0§@?
. Initialforce | Endforce™ | ce
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jnch i mm | jnch i mm | jnch: daN { /b :daN i /b i cem' | in® i~Kgi b i Ca
KM 75-15-C 15 059 135 531 120 472 7700 17310 12040 27067 2390 1458 463 1021 -
KM 75-25-C 25 098155 610 130 512 13872 51185 3130 1910 494 1089 -
KM 75-38-C 38 150 185 728 W1 570 gggob;?sr/ 15048 33629 4290 2618 550 1213 -
KM 75-50-C 50 1970210 827 160 630 | 16107 36210 5230 3192 571 LR -
KM 75-63-C 63 248 240 945 17T 697 5% 16620 5363 6400 3905 625 1378 -
KM 75-80-C 80 375 280 1102 200 787 +20°C +68°F 17009 36238 7960 4857 686 1512 -

T
< How To ORDER
% !
| £ (10 pes) KM75-50-C
] R 04760 - 06155 |
Drop-In Through plate Bottom mount 06047 - 06164  04762/C - 06770/C

148 -014 Vep Automation




v EI AUTOMATION

made by Special Springs

Easy manifold () Info
Plate connecting hole @10 - *100% Cu - Polytropic end forces
9,39 - T
() page 164
M10 X 8 (4x :
@ 90 ( ) ---------------------------------------------------------------------------------
7354 Ra < 0,05 For Easy manifold replacement units quote
; HV ~ 1000 i product code marked on your cylinders.
= i R
o | o™ Q
i
|
|
- |
i
i
i

g

0120+0,3
0472+01
""""""""""""""""""""""""""""""""""""""""""""" Pmax Pmin = S = SPM MaxSpeed Maintenance kit
200bar | 20bar | 6362cm* | ~20-50 i
_________________________________________________________________________ 200psi | 20psi | 9getiv | aeq) | YOMS | SOMKWRO
LiLminFOF1§V0§@§ KM
. Initialforce | Endforce * | C E
____________________________________________________ mm  inch | mm i inch i mm {nch | daN i b i daN | b i em’ | in° | ~Kg{ -b i Cat |
KM 120 - 15 P15 0591 115 4531100 394 12720 2859520981 47167 | - - 1584 1267 | -
KM 120 - 25 125 (098135 5311 110 433 124450 54966 - - 1655 144 | =
KM 120 - 38 38 150 165 640 127 500 gggobgsr/. 26556 59700 - - 125 1598 -
KM 120 - 50 1 50 1971195 768 145 571 | 121262 61287 - - 1806 177 | -
KM 120 - 63 1 63 2451225 686162 638  +5% 28269 635571 - - 1914 2015 | [
__________________ KM120-80 80 315265 10431 185 728 +20°C +66°F 20061 653521 - - 1984 21690 W |
G1/8"
Gi/g"
____ FKM120 o
Kit speciale per trasformare cilindri autonomi QIR O I o &
Special kit to convert self-contained cylinders ”9‘1‘*7 ) ol
Spezial-Set zum Umbau eigensténdiger Zylinder 0112
Kit spécial pour transformer les cylindres autonomes 2441
Kit especial para transformar cilindros autonomos 0120 +03
Kit especial para transformar cilindros autdnomos 94724 01
[ZHow T0 ORDER
2 (10 pes) KM120-50
£ 1
010008 / (10 pes) KM120-50-EN
Drop-In Through plate Bottom mount  04765/C - 06771/C ’

Vep Automation 014- 149




KM 120 C VEP...omaron

linkable G1/8”

made by Special Springs

| ——-—-_ DEDN
= EID
I'feli'!,,‘;'ﬁ 97/23/KC

“Info
.~ *100% Cu - Polytropic end forces
Ra< 0,05
0 90 HV ~ 1000
7 354
j
3 ‘ ™l
[ N h
|
|
|
|
05 \
S|+ |
+ [ |
—| 1
R
0112
7 441
— 0 &
‘@x
|
2% ol &
- 0120 =03
g4,72+,01
""""""""""""""""""""""""""""""""""""""" Pmax Pmin @ S = SPM MaxSpeed Maintenance kit
200bar | 20bar | 6362cm* | ~20-50 i
™ e @ s (2OBWT oogng  oops | ggsiin | gagy | YOS MK
LiLminiFuiF1iV01@i
3 . Initialforce | Endforce ™ | Ce
e imm  nch i mm { jnch  mm | inch daN i b : daN i b i om® i in® :~Kg i ~b i  Cat |
KM 120-15-C 15 059 135 531 120 472 12720 28505 20981 47167 3500 2136 760 1676 -
KM 120-25-C 25 098185 610130 512 24450 54966 4670 2850 831 183 -
KM 120-38-C 38 150 185 728 W1 570 gggobl';‘s’, 26556 50700 6500 3966 901 1986 -
KM 120-50-C 50 197215 846 165 650 27262 612678380 S1M4 | 982 2065 -
KM 120-63-C 63 248 245 965 182 717 5% 28269 63551 10210 6230 1090 2403
KM 120-80-C 80 315 285 11221 205 807 | +20°C +68°F | 29061 6533212670 7732 1160 2557 I

Hor
[ How T0 ORDER
% :
| = (10 pes) KM120-50-C
or2es 04763 - 06156 ‘
Drop-In Through plate Bottom mount 06191 -06165 04765/C - 06771/C
150 -014 Vep Automation




